felz
=}

S y=2V=-3x+6+12°] IHx?




Foto] @4y = Vax o 2emet

@ y=+2x+1-1
@ y=-V2x+1



y

@ y=+v-2x+4-1 —

@y=+v-x+1-1 0\2
[ | D—

®y=-vV-2x+4+1

@ y=+Vx-1-1

®y=Vox—44+1



V5 - x+3 °f tiste] (go f)(4)

@ 2 3 3 @ 4 3B 5

D 1



Vx—1+2°14 f7' (4) 9

T f (%)

oA

B 8

® 5 B 6

A 4



6.

y= v2x9 1

y= V2x+6 -

DS xyZO08 g yE08 n g

23 LSk}, n—m ] F2?

D 1 @ 2 3 3 @ 4



m+n2 F2?

® 3

@ 0



Ty = VBx+6+19 T =7} Aps BE AFEHL9

O A1, 2A82H @ A 1,3AEH

® A1,4 21 @ A 1,2,3A5EH
® Al1.3.4AHEH



© ® © 0 ©

4y — VO F 3x—2 o e O 4 5



©)
Y
0] T
®
Y
L
T
—10[ £
®

\ o




TR

4 —
D (x> 00 ep o) x2487 109w, 44 a ]
X

ol

3) 3 @ 4 B 5

® 2



12.

~Vax+ b+ ¢ It ok 1
a+b+co 27

® 2 ® 3 ® 4




Aot o f(x) ol st fA(Vx+a-1) = x+
0¥ W, a — b9 S 5HH?



14.

HG] (-~ 2 < r < 0) A F By = AT T Y 4Ly = o2
of thstod y = x+r o] A7ty = /2(x +2) +1 2] DS ZHT}=
oFefel gLy = 29 o] e Weks 9le] 9l W, r & W97}
r<r<ry 2F1 Sk 3ry — g O] 3 FLSHH?

D -1 ® 1 3 92 @ 3 ® 4



15.

— VT 142,y = mx O I AR g ghEE sl

ol Zol Mel=a<m<boltt o] Wa+ b F2?

® -3 B -2 @ -1 ® 0



